WifE (@fsia) aferave, fSeEa- o0

cTeee Swey | e FriFT FAASA 6F o eS| 93w | weNR AP | 29 Ew rEatal/fAefEe 2o30-3 oY= feomE, i
Gowea AGTFE A | WG, Sb- | 2055-20 [epiidiad  [ufe Gax Tow  [pafe am Beil 1A e Jo%0 Y2, 2030
J= Y s fSoma,
Y040 iy
FRAALER @IS Sraeey T2
Lo [5.5] #IfEmda FiEw AfamEE [[3.5.5] 4R FReEr @ EEiia 2 AT q 89,808 @93y | we,000 | o000 29,000 38,000 35,000 8099 b
Afedt
[5,3] AR CHIE FHAS  |[5.2.5] IwT Afvegys EEiid w24y S o Sbo S@00 Soeo 5300 %0¢0 sdoo Sbd oy
HEFTTA oM Py @ae FraUE @ 2w ;
fmtefar fffeearae [>.2.3) G2 S0 fox B AL b Sose 303 aco wae oo @3¢ 8¢o 584 oy
[5.0] Bywadt B [>.9.5] #ifawifere Sywaasd i ALt q o3 LIS qgo vae woo axa 8eo %0 Bl
[5] 5% e “AfBTeTt nfww
T T [.8) = @r%= S [>.8.5) 1) @/ c-cwata GFBTR ERi] A3yt b @3 oud 800 Lo 930 ) 280 8 Strt
FeeErE aE ffes T [=ea
[5.¢] FAAAT @ AfSHITA [5.¢.5] SAHFS ATCFH Epiid HeL b So%0 bbbl 50000 000 rooo 4000 Looo 538¢ e
AL IR @ JATH [5.¢.3] FAFS AZEH EEii HeAp b 20339 2WLLaE 3@000 23000 30000 Srooo »oeoa 3380 23044
[5.8] =3 @27 A2LFE FRAAA [ [5.0.5) AT Ar7=1 i F2 b S83% Sboo Swoo 4o So80 %0 o o8 Ao
o #fE¥icT fRgee wrwat
(%) @ravr @ %o [2.5] TR @ affewm [2.5.5] “AfatTa ey % S0 9.00% | ®5.00% vo a3 8 @y 8w 5%
b v efice At e 1= R | Fefegs s #fd=gow, AR
Wi e wfirom fetan ¢ Feifa FeAfE=ouy
R UCKCIERIERER]
(] W wsperfioe fy @ [©.5] FErEAe Al [©.3.5] #ifspps bt A8 o e 808 SN 800 oL 030 woo 30 80 b
[©.5.%) ifermsitd e gt 2.¢ 8o Gl ¢oo 8¢o 8oo ogo w00 b 59
wiafiyE @reens Srard Tz
[5.5.5] @f*9’7 7= taifee e AL 2T 3 8 8 8 - > 3
Afbraus ST AifEe
[5.5] A Tt gfee
(af#a)y qrEars=
[5.5.3] ¥f*a B e Fst waf EEE S - 5 53 Y - > b
wfos
[>.%] *[@5Tay T 6618 Ra [[5.2.5] Fofafmy et g wfe AT 3 - 8 © 3 - 5 3
S e Are TSN
[5] wrefae TS
=gl I 6 S0 [>.o) SfETam dfSam I [[b.0.5] SRESTe 7! wiealfers a8 H2 =T S. B 8 B 3 % > 3
wrtafufz Al e et reee Mo
LEIELE L]




[5.8] CTA1 &1 aifesfe Rawn [ [s.8.s]erafgesad st wianfers | Fafy eyl 8 © 3 S %
e ST
[>.¢] 95 AISTIA LA [5.¢.5] Cair aferawe cifas f8 #24r - 8 © - 5 3
T8 A aiferans
Befiea FYeTRT w0 el
[2.5] 3-Af% IrEAE [2.3.,3) 2-Afdrs @B F=fags T % 300 300.00% vo 90 Lo %00.00% 300,00%
[2.3] fEf&GE @1t slefrae [2.2.5] @3 Fg fEfebe emn wifag wifas 3¢.02.3 [ 5¢.00.35| se.08.3 BTN
SIS
[2.0] GTAT Fgferwad [2.0.5] @ T2fegs e wifay wifay 3¢.02,3> | 3¢.00.35 | 2¢.08.%> 20.08.35
Sf¥rrg ArEaifis i
[2] Thr=EE [2.8] FAGIACHA Al o |[2.8.3] HTSTF FHIER w7y Exi] EC] @o 8o @0 30 2 3¢
stfefiterst ST @ #ifépmet St e
il [2.8.3] 507 (% @ S ATSTF LEiE et B @ 8 %
oA e R ave
#ffFrnet
[2.¢] A8 ERAA AT [[2.0.3] PAEH @ WewEF EEl 2 - S = 2
T FYR/ TG FABTAE @t
GRS AT HAATS
[0.5] aif¥w @u Afaae [9.5.5] % e S &3 Bl % Y00 50 bo =
IrEATA Eiita ]
[.2] AT Gawe T30 (0.2.5] AT S Faffage % S00 50 o 2@.59% 26.59%
(afSfl)/ At arwar= Fsfb(afeH) et rsfis
o) Wit & 7o [9.0] UG = feafa [2.8.5] faerfm s1sta Gergera | Fsffergs % bo 0 o ao g
YT FrfrE S G AR &1 e
[0.8.3] &G w#ifE f=ifage FfETS % @.00% ¢o 80 wo 20 s
[©.8] EAA @ WA T AEa [ [9.8.5] BAA @ WA eifan wifa wifa 03.02.30%0 | 5¢.52.203 [ 38.05.25 [ 2023 - SEHY00 | Sa/syzez0
IferFl 4TS ¢ ZEEEAd |t dgege g3 TeHye o




